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Social Work

Paper 1I

TSR
g9uRreRTt 11

Time Allowed : 75 Minutes]
Note : This Paper contains Fifty (50) multiple choice questions, each question

[Maximum Marks : 100

carrying Two (2) marks. Attempt All questions.
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The objective of social reform is :
(A) to help a minority group

(B) to assist the marginalised group
(C) to bring about social change

(D) to bring system change

Servants of India Society was
founded by :

(A) M.K. Gandhi

(B) Gopal Krishna Gokhale
(C) dJyotiba Phule

(D) Thakkarbappa

Feminist social work practitioners
address the following issues :

(A) Gay and lespian rights

(B) Violence against women and
children

(C) Social
inequality

injustice, power,

(D) Women’s development
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Match the following pairs :
(@) Paulo Freire (@) Rulesforradicals

(b) Saul Alinsky (@) Radical social

work

(c) Bailey & Brake (iit) Pedagogy of the

oppressed

(d) Margret Ledwith (Gv) Community

Development
A) a- b-ii  ciii  d-v

(B) a-uit b-i c-iv d-iii
(C) aiii  bi  ci d-iv

D) aiv b-ii  ciii di
That everybody’s interests should be

considered equally when making

decisions is a core tenet of :
(A) Hedonism

(B) Rationalism

(C) Utilitarianism

(D) Humanism

Which one of the following is not
tribe of Maharashtra State ?

(A) Varlis
(B) Dublas
(C) Bhills
(D) Mundas
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e e

(@ wEE weR () | wR fewa
(b) Hre sfrHen! (i) Yfeshal G o
(c) ol 37ftn st Gii) deTrst Tw <Y

AHe
(d) TR EE () HEE fewaue
(A) a- b-ii  c-ill d-iv
(B) a-i b-1 c-iv d-iit
(C) a-iii b  cii d-iv
(D) a-wv b-ii  c-iil d-i
fofe Sarm wate feq diviesal aifest @1

foraR qeietden! v foaReamn= qayd

Il A ?

(A) BTy
(B) FGIMIHEE
(C) JUFHITER
(D) HAdTET

TTATeTdeh! hioTdl STgfad  Stsidi/

A TR TSIq 3f@eed el 2
(A) Rt

(B) golel
(C) i

(D) qe1




Social change that occurs without
being noticed by most members of

a society is called :
(A) Latent change

(B) Manifest change
(C) Absolute change
(D) Relative change

Which of the following is a political

institution ?

(A) State

(B) Political Parties
(C) Religion

(D) Education

The first linguistic state in India
is :

(A) Maharashtra

(B) Gujarat

(C) Tamil Nadu

(D) Andhra Pradesh

NOV - 20211/11

M, G Sl dgdeh lleh=al &l

Gl eTdeh] IV STchd HEl TR ?
(A) T¥

(B) USifehd d&

(C) =d

(D) foreon

qArdial 99q TeieR Temfd Tsg
HIT ?

(A) HEISE
(B) TSI

(C) ifHesTg
(D) STgYe™
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10. Match the following pairs :

Authors

(@ Max Weber

(b) Muzumdar D.M.

Books
(©) Essays in Socio-
logy

(@) Social Welfare in

India

(¢) Myrdal, Gunnar (i) Society

(d) Maclver R.M.

(A) a-i b-ii
(B) a-uit b-i
(C) a-ui bl
D) aiv b

(fv) Asian Drama

11. Match the following pairs :

Person
(@) Anna Hazare

(b) Medha Patkar

(¢) BabaAmte

(d) ArunaRoy

c-lv d-iii
c-Lv d-iii
c-lv d-i
c-ii d-iii
Work
(@) Anandwan

(@) Right to Informa-
tion
(@ii) Anti-Corruption

(tv) Narmada Bachao

Andolan

(A) a-ui  b-iv
B) a- b-it

(C) a-ui  b-iv
D) a-iv  b-iil

c-1
c-1il
c-ii

c-1

d-ii
d-iv
d-i

d-ii

10. Srewl @
[greea
(@ W IR
(b) I TH. IR
(©) TR fada
(d) 3. TH. Hehsa{
A a- b-ii
(B) a-ut b-i
(C) a-iii b
D) aiv b
11. Srea om@n :
e
(@) AU TSR
(b) T AIEHT
(c) dfrem A
(d) e
(A) a-iii b-v
B) a- b-ii
(C) @it b
D) aiv  b-ii
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qieh
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(i1i) SrEE
(fv) TferEE g
c-iv d-iii
c-iv d-iii

d-i

d-iii

Ep]
(@) sTHgad
(i) TE T TTHITHIA

(i) y=ER faiy

(fv) T = ST
c- d-ii
c-iii d-v
c-ii d-i
c-1 d-ii




12.

13.

14.

In the of national

development, JNNURM means :

context

(A) Jawaharlal Nehru Non-urban

Road Mission

(B) Jaiprakash Narayan National
Underdevelopment Redressal

Mission

(C) Jawaharlal Nehru National

Urban Renewal Mission

(D) Jaiprakash Narayan Non-urban

Restructuring Mission

The theory of five levels of human
needs which employees need to
have fulfilled at work, was put

forward by :

(A) Mayo

(B) Sigmund Freud
(C) Maslow

(D) Taylor

Proponent of social learning theory

was :

(A) Albert Einstein
(B) Albert Bandura
(C) Franklin

(D) Alexander

12.

13.

14.
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AN TH. BN
(A) SR A& AH-37eH U favH

(B) STIYHI®T ARFO I TS~
sRaue Rgga favm

(C) SeTelael Je& e afelq gste
foem

(D) YR TR H-3Te Fegah=ii
IGHNE|

RIRT=AT HET= ool qui grom=n
TSI I TG0 HHe TS g
WAtAdehl vl Higal ?

(A) |E
(B) famie wise
(C) e
(D) W

diere AT fagae giE@ed wio ?

(A) 3T TET=TEA
(B) i a=<q
(C) Hehfed

(D) SfeieRd~eY
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15.

16.

17.

Who proposed a theory of moral
development for women with three
stages and two transitions ?

(A) Lawrence Kohlberg

(B) Helen Perlman

(C) Carol Gilligan

(D) Dennis Saleeby

significant

Perlman’s most

contribution is her book on :

(A) Social Welfare Administration
(B) Social Work Research

(C) Social Group Work

(D) Social Case Work

Johari
the expansion of the following

window emphasises

window/s :

(@) Known to self, unknown to
others

(b) Known to self, known to others

(¢) Unknown to self, known to
others

(d) Unknown to self, unknown to
others

A a +d
(B) only d
(C) only b
D a+b+c+d

15.

16.

17.
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o (aY

qfgetren Sfder farmEm@st 9= o=
el ?

(A) @ Hicer

(B) &H o9

(C) & fireet ™

(D) 9 Fedfst

TelH Hald HEequl ANGH U &
@reitel favaredial g&iesh

(A) GHST sheIMOT 9IMHA
(B) TUTRE EReH

(C) TSI TTe/9qg &

(D) Hfragera wr

o N .

Sier ferer=an Hehedn JHTON @eiiereh]

e faeia’ are 201 27uferd e ?

(@) @d: o Hifgd 790, TE-AMT Hifed
T

(b) @d: o Wifed 79U, TH-AMI Hifed
90

(c) @d: o Hifed 90, T Hfed
9

(d) w@d: o Hifeq 90, T Hifed
T

A) a +d
(B) % d
(C) ®K b
D) a+b+c+d




18. Partialising in the context of case

19.

work means :

(A) Addressing a problem partly

(B) Being partial to some significant

aspects of the case

(C) Priortising a problem according

to client needs
(D) Specifying various dimensions
of a problem

The following are some techniques

of counselling :

(@) Reflective Discussion
(b) Motivation

(c) Clarification

(d) Transference

(A) a +b +c
B) b+c+d
(C)

a+c+d

D) a +b+d
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18. AfFTerR S ‘ IRITREET’ = 37ed

19.

BN :

(A) THEI= Hife YNTeR &) <00

(B) W& wife W@yl UeerR )

<o

(C) AfF= (THE=) TReJER TR

o e ~

AlEshH  [HIREd < ll]

(D) HHEAT A oAl A

EEl

IR hEl a3 JelayHml 3 :

(@) Todacas ==
(b) IO

(c) TS

(d) TFRTH

(A) a +b+c
B) b+c+d
(C)a+c+d

D) a+b+d

[P.T.O.



20.

21.

Strengths approach emphasises :

(a) abilities and assets

(b) empowerment, resilience,

healing, well-being

(¢) deficits to be turned into assets

(d) need to understand past failures

to structure future success

A a+b+c+d

B) a+b +c

C) a+bd

D) b +d

‘Brainstorming’ is an example of

which group task type ?

(A) Additive

(B) Conjunctive

(C) Disjunctive

(D) Optimization

20.

21.
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qmed -9 e Jeid aeie Sk

<l
(@) &Har AT FeTem™

(b) TR, foliy, s 0], e

(¢c) HANAE TATAHT IadT 0

(d) YdhIBAId AT FHSA AT

gfasardial IR AT HI0ATH

ITART L0

A a+b+c+d

B) a+b +c

(C) a+bd

D) b +d

qHHEHMEA HHMT HIET ThR

‘I’ ¥ SR SR ?

(A) sifefes




22. Assertion (A) :

23.

The primary source of energy which
propels the group and influences the
Individual to change is the
interactions, or reciprocal responses,

of the members.
Reason (R) :

Because the group worker
influences this interaction by the

type and quality of his participation.
(A) Both A and R are true and R

is the correct explanation of A

(B) Both A and R are true and R
is not the correct explanation
of A

(C) A is true but R is false
(D) A is false but R is true

Which one of the following is not the

principle of social group work ?

(A) Principle of specific objectives

(B) Principle of Continuous

Individualisation

(C) Principle of Guided Group

Interactions

(D) Principle of Natural Justice
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22. faam (A) :

23.

qUETAT ATl QU 0T At

ST Fo hIO Seidl WA &
TEUTS] Rl FEEAHEIE STeRishl Ao
W YidEE, § .

HRUT (R)

SO FHE HEASI=A TR

TR AT YhRER & STalfhan

S ST

(A) A 3 R S8l S 39T R ®
A 3 AT TR 3R

~

(B) A 371 R =l SR 3ed 99 R
T AT AT TSRO AR

(C) A SR 3 R 9 3@
(D) A 9% A R R 3T

JEITUsh! hIOd § HTHISIeh WS hiam
o A ?
(A) fafyre seem= aa

(B) ¥dd =afedaniuma dc

(C) Tdftrd Tz siafshara da
(D) "&fifer =mrE d@

[P.T.O.



24.

25.

26.

Which one of the following is not the

purpose of social group work ?
(A) Social adjustment of individual

(B) Social consciousness of the
group

(C) Personality development

(D) Inter-group rivalry

Social group work is a method
means an orderly, systematic,
planned way of working with
people in groups. The definition is
given by :

(A) Grace Coyle

(B) G. Welson and G. Ryland

(C) H.B. Trecker

(D) W.A. Friedlander

of

Jack Rothman’s models

community organization are :
(@)
(b)
(c)
(d)
(A)
(B)
(C)
(D)

Locality Development
Social Planning

Social Action
Public-Private Partnership
a+b+c

b+c+d

c+d+a

d+a+b

24.

25.

26.

NOV - 20211/11
qEicTdeh] ShIUTdl TTHISIeh TS 1Tl

& TR ?

(A) fR= G GHESH

(B) HHgEl 9HIfSeh Sfte

(C) Afrara T

(D) fafay wqemeia T

TSI T S TSl Ul ISaviK,
[RRISEEF-RAN ERSE NG RGICAENCHCaty
0. & e A oot e

(A) T9 &HEA

(B) Sft. dared offor S, [es

(C) T oft. I

(D) &Y. T THIgelvex

U e Sfeh TIHA AT Wi Taetett
BIESEE

(@) 9@ fawm™
OEECISEIRERISE

(c) QTSI et

(d) TESIh-Esrl &5 TN

(A) a+b +c
B) b+c+d
C)c+d+a
D) d+a+bd

10
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27. Assertion (A) : 97. faam (A) :
One of the most useful principles of Tt Ao ¥ e G e
Community Organisation is self-
q L A HEeT= d B
etermination.
Reason (R) : FROr (R) :
(@) It builds the confidence of the (@) A Y9 Baeevare 3 gqemHEm
community in addressing its Ifgm 2.
own issues.
b) TIoa-ufshaa TEmEma Atk
(b) It promotes participation of ®) S
the community members in eI STl
decision-making processes. (¢) e folar Seaeer See
(c) It absolves the community Thedl TESHER Id AL
organiser from the sole ) )
responsibility for decisions (@) TETdre fafgy Temer wae
taken. el
(d) It promotes interaction among A a +b +d
various community groups.
B) b+c+d
(A) a +b+d
(B)b+C+d (C)a+b+c
C) a+b+ec D) a+c+d
D) a+c+d 28. YeIcTUsh! SHIUIT giteshA &1 THETT FeeA
28. The following is not an approach of SR gtehE @ ?
community organisation :
UNESIIERSIG)
(A) Conscientisation
B) @it s
(B) Social Planning ®)
(C) Social Action ORLIEE 2l
(D) Social Empowerment (D) GrHIfSieh TerHteh<o
11 [P.T.O.



29.

30.

31.

The process of mobilising people in
the community towards change is

generally termed :

(A) Community action

(B) Community development
(C) Group Action

(D) Community Organisation
through Group Work

Which of the following is not a

component of community work ?
(A) Groups within the community
(B) The worker

(C) The community

(D) Home visit

Statement (A) :

Increase in the sample size increases

the precision of the sample results.
Reason (R) :

Larger the sample size smaller the

sampling error.

(A) A and R are true but R is not

the reason for A
(B) A is true and R is false
(C) A and R are false

(D) A is true and R is reason
for A

29.

30.

31.
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TREAAES FHSEME Foed &0 Al
YishaeT HILRUG:
TEUTA.
(A) TR Fal
(B) "™ foashrd

(C) & il

(D) T HEQ T HEeA

qEIcTUsh! hIUl T B HHSM Shidl
W AR ?

(A) HHSMEA TE

(B) hreisha

(C) "HHE

(D) Tede

o @A)

T SRR a6 hedld  TH==A
fTeRTelr= SR YN STed!.

%R0 (R)
TN RN Segel Higl 3THA deedl

YHIUNG FH=T= SRl Al STHAN.

(A) A 30T R § Sl SRR 3Ted T,
R % A< 9% &R0 &

(B) A N 38 W R =& 3
(C) A &Afr R = I 3=

(D) A SR A€ 70 R & A 3 &R0
38

12



32.

33.

Match the following :

(1) Analysis of @) SD
variance

(2) Coefficient of @) Mode
correlation

(8) Test of Difference (iiz) F-test

(4) Central Tendency (iv) t-test

(5) Measure of (v) Karl Pearson
Dispersion

(A) 1 2-v 3-v 4t 51

B) 1v 2 3-it  4-ii 5-iv

(C) 1u 2 3v 4v 5

M) 1 2-v  3-v 4k 5

Which of the following can be
directly observed using only

observational method ?
(A) Behaviour
(B) Cognitions
(C) Perceptions

(D) Attitude

NOV - 20211/11

32. Sedl oM@

1) ifeg eArw G TEE
st

2 wEfFHT= e ) ¥
FHRICRH

(3) W A fewtd (i) TH-E

@) = Izt (iv) A&

(5) TSR S feoqm™  (v) 1ol UEA

(A) 14t 2-v 3-iv 4t 51

B) 1v 21 3-it  4-ii 5-iv

(C) 14t 2 3-iv 4v 5

(D) 14 2-v 3w 4t 5

33.

EcileTdeh] ShIvTeAT STeia e ggdt

e ggel O s Iehdl
(A) oA
(B) 3Tehed

(C) =&

(D) TRIHHA

[P.T.O.



34. Statement (A) :

35.

Assessment of association between
variables by percentage different
just gives us an understanding of

association likely to exist in sample.
Reason (R) :

It does not tell us if the inference
drawn will hold good to the
population from which the sample

is drawn.

(A) A and R are true but R is not

the reason for A
(B) A is true and R is false
(C) A and R are both false

(D) A is true and R is reason

for A

Non-probability sampling method is

used when the population is :
(A) Infinite

(B) Finite

(C) Homogenous

(D) Heterogeneous

NOV -20211/11

34. faam (A :

35.

9 TAmEta U, HRh A=Al
YR eATh T 3T SR

HEYT STl THST UTe hed <.

%l (R)

hIeced TSRS ST Sleh G Tl
ferecien o8 o heEide! A R
1 Il ERTE A AT

(A) A 30T R § Sl sRIeR 3Ted T

R % A< g% &R0 &

(B) A N 38 W R =& 3

(C) A &Afr R = I 3=

(D) A SR € A0 R T A 3 &R0
38

TR-Greard A1 e Igdl aruRett s

TRl AhEEA &
(A) T

(B) wifid

(C) THfSHHT

(D) UshfSHHEl T9cie

14
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36. The Chairperson of the Planning |, 36. THaI9H AN 31&9&] vl A9dd ?

Commission is : A) Fra T
(A) The Finance Minister B) Frd S
(B) The Planning Minister .
(C) qdg4m™
(C) The Prime Minister P
(D) <4 T
(D) The Speaker of the Lok Sabha ) )
37. For calculating income level for 37. TIRGH Y ST v e o=
) ?
deciding the ‘poverty line’, the R
following factors are considered : (@) ST fopmd
(@) cost of food (b) TG 3AThe
(b) inflation figures (¢) F A
(c) agricultural production (d) SRR X
(d) rate of unemployment A) a + b
(A a +b B) a + ¢
B) a + ¢ ©) ¢+ d
(C) c+d
D) a +d
D) a +d - R -
38. WMHTSI ENTOME] Hod  @TATAYHTI]
38. The values in Social Policy as TR
follows : ’
(@) Duty (@
(b) Justice ) =
(¢) Rights )
(d) Freedom (d) ¥&a=
(A) a +b+c (A) @ +b +c
B) b+c+d (B) b +c+d
C) c+d+a (C) c+d +a
D d+a+bd D) d+a+b

15 [P.T.O.



39. Which one of the following is a

40.

41.

Central Act, governs tax exemption
of not-for-profit organisations ?

(A) The Income Tax Act, 1961
(B) The Income Tax Act, 1962
(C) The Income Tax Act, 1963
(D) The Income Tax Act, 1964

are the fundamental

rights as per the Constitution of
India.

(@)
®)
(c)

Right to Equality
Right to Particular Freedom

Cultural and Educational
Rights

(d)
(A)
B) a, ¢, d
(C) b, ¢, d
D) ¢, d

Right to Development

a, b, ¢

The persons with Disabilities (Equal
Opportunities, Protection of Rights
and Full Participation) Act came
into existence :

(A) 1992
(B) 1993
(C) 1994
(D) 1995

39.

40.

41.
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GAeTieh! hIvAl el HEG TH |
FHHTEU-T TEIIS! ST hi- e
= e w2

(A) S H ],

1961
(B) 3 Y SR, 1962
(C) 39 X hrFql, 1963

(D) 39 kY hEQl, 1964

YA TSTEHSAYHIU itk ShIoTd

Tad ARR TR ?

(@) FHAMET AfYFHR

(b) fafere w@a=mEn SIfHwR

(¢) Wipfaer ofor Jeaaforer s1fmR
(d) faemmar=n sAfyeR

(A) a, b, c

B) a, ¢, d

(C) b, ¢, d

D) ¢, d

T WETY o fegustend™ (Saad
SRS, UIeeRM 3% qs<H TS
o IEIEIYH) THR el AR
e ?

(A) 1992
(B) 1993
(C) 1994
(D) 1995

16
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42. If a person is accused of crime, the | 42, wwew =afgqayr FAgueEm=ET AU
first court he/she will have contact ST T SR T I e
with will be the : .

(A) High Court

(A) 3=d I
(B) Magistrate’s Court

B) #AfSEz —=meH
(C) Special Court (B) %
(D) Supreme Court (ORCHERIRIE

43. Name of the current international (D) Halfed =A™
?nstrument specific to child rights 43, =T o et SRt A
is :

R31ES K
(A) Geneva Convention on the )
Rights of Child (A) SHeT HadgE A T T AE
(B) U.N. Convention on the Rights i
of Child (B) J. TA. H=¥E M T <Y A
(C) U.N. Declaration on Child Ees
Rights . . .
(C) . TI. ShelIM A dRee e
(D) Universal Declaration of L 5 )
Human Rights (D) FfToHe ShHeRIM SATh FIAT T2,

44. The ‘National Commission for | 44. YRd TXHRA ‘STl Toeh HLETUMETS
Protection of Child Rights’ was USSTA ATAT’ HivTeAr gl TmA
constituted by the Government of e ?

India in the year :
(A) Hr€, 2007
(A) March, 2007
(B) March, 2008 (B) W, 2008
(C) March, 2009 (C) ®rd, 2009
(D) March, 2010 (D) =T, 2010
17 [P.T.O.



45.

46.

Social Legislation attempts to :

(A) provide justice as well as

security
(B) anticipate social control
(C) provide for social change
(D) provide for social development

are not Millennium

Development Goals.

(@)

Eradicate extreme poverty and

hunger

)

Promote gender equality and

empower woman

(¢) Control environmental

pollution

(d) Achieve universal higher

education

(A)

a, b, ¢
B) a, b, d
C) ¢, d

D) b, ¢

45.

46.
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e R S CC Y D RO G [ CA B I ESI )

IRl A9

(A) == 9 e gfan

(B) gmifSier fesmor emafard s

(C) TSR SeeAdrat

(D) HHIfSR faesramEme

TTeATeTieh] hivd ol fasra &34
R LE

(A) T e AT v T e
T

(B) femama 99mal o HeHieu ae
(C) TafeRy yguumer s

(D) wrEfh I=a g wred

(A) a, b, c
(B) a, b, d
©) ¢, d

D) b, ¢

18
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47. Assertion (A) : 47. fagEm A
Sustainable development is a smeaq foehrd fe wwerr=n ot W
pattern of resource that aims to SE F S Sy THETEl Qi@
meet human needs while preserving N . o N
. hld HAHHl HIHdT ] 'T]f {0l Tl
the environment.
3Te.
Reason (R) :
R0 (R)
So that these needs can be met only
for present generation. ST HET T ST HEFA Fd I
(A) Both A and R are true and R kY '
is the correct explanation of A (A) A 30 R =R ;R FHE R T
(B) Both A and R are true and R IAAH TIEH S
is not the correct explanation B) A @il R 94d & 99T R ¥
f A . N N
° AdHIH HC[eh U] Hlel
(C) A is true but R is false
(C) A7 & st R @i 3R
(D) A is false but R is true
D) ATEL T RT & IR
48. The new way of measuring
development, using the composite | 48. TREMET T TGl HSHT HIAT
Human Development Index was first FUIfae Al T fasier gwardia
introduced by : IO AN ?
(A) The SAARC report on South (A) T efaor el atm e
Asian Regional Development 1990 =1 STEETE
1990
: (B) ¥RdE S STErm=n 1990 =
(B) The report of the Planning
Commission of India 1990
(C) The first Human Development (C) % W Bt W =N 1990 = Hfeww
Report 1990 of the UNDP Al foshd sTedre
(D) The World Bank Report 1990 (D) Sifass o efeard 1990
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49.

50.

In the modern context, human

development is :

(A) About the rise and fall of

national incomes of G.D.I.

(B) About increasing the potential
for economic growth of the

family.

(C) About creating an environment
in which people can develop
their full potential and lead

productive lives

(D) About improving the health

facilities for people

The following are hindrances to

social development of the country :
(a) Low literacy rates

(b) Adverse sex ratio

(¢c) High level of taxation

(d) Caste Disparity

(A) a +b +c

B) a+b+d

C)b+c+d

D) a+c+d

49.

50.

NOV - 20211/11
MY Hlar=a devid, "Hel s

BN :

(A) S €l STE. = TS 9 a6
At =

(B) Searen oMfde aEdd gw ae

(C) oieh =l gl vredr=n qui foehre
LI A SAIGh SraTed qroeh
ren o= At

(D) dreprErel T gfawmed ame
I

ETATAd T HTET SIM=AT HTHITS S

foRMda Tedes TRd ?

(@ <HH HE T

(b) T AR W

(c) HISA YA hT SRR
(d) St fo=rar

(A a+b+c

B) a+b+d

C) b+c+d

D) a+c+d
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TRraneaTel gt
1 YIRSl a1 hId=aTd STl 39 hHieh
U= Yue oo STafIsh=n %HH
e ferera.
YYT9TSeRT shHeh OMR StRUfSeher faciedn
ThRTIT felg ATIHTO SR Shrell.
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